
 1 242022

what is analysisand ÉÉÉÉgaYf x2 x 2
calculus

change
series

sequenestimit 31 3 2 X Z 2

at Iii a

FEW É
Howdowedothis

X 2 Means EP r isnotarational
Samewith this is a function

TF 3.14159 a lot of people don't think
14 121799 2

it is

XE 2
P

X 2PM

There's a lot of subtitles
when x is an integeror

rational thesethingsmake
sense

But like given42
2 how do we know

such a exists

Canyou prove
E is irrational

How doweknow
E exists

Number length d

pretty quickly you'll
have to think of ratios

w these s
Pythagoras

yg or y 3 or
whatever
iii

1a I
2 1,0 1,2 integers Z

Then we gotrational q

3 7 10 3 y

3.7 III
73 7fimes

So we have Z t o and we can do stuffw them
dextend

Q1
Letsappendtheabilitytodivide

Xty ytx makesure 2 z x means x
solves 3 2

Xtlytz Xty 2 Enlightened oandnegatives Stx
2

1stgraderwillsay
there's nosolution

Xlytz xy x2 g

what is 7
2



Afraid's
t

transcendental
thrifts1 25 1.252525 1.33d

Addinfinitethingsthatdfffed
wehaveÉÉ III an

gives IR t

Realnumbers

1 26 2022 oygjont.IEttInfEnii'simals

IN C Z CQCIRC
wigjmecttt.t

gainsome stuff

Twelosetheorder Ican'tcompare
2 complex

and the algebraic operations
agrees

s such as ztiorz

Fundamental each bigger
set of s

agrees w the smaller one

often where you lose
students in school

math youradding
a newthing that buildsonme

let's assume that you
are experts with Q E p

ÉÉÉÉÉ
godpg
A so and

Q is an ordered
field

Acancompareeveryone
andputthemin

order
expensive z arega

Aset is ordered means
thy e'seitherattyfifferoperty

Butwhatifwehave3things foodalso say xzy or y Z X

ble if xzyandyzx.trenx yEI.in i
w
so if xzy and x ty then

7
Afield is a set with two binary

operations t

so that fxiyteyt.YIY.tt commutative
asicallyafield

asetthat
has

ofthe
properties

f xy.ae 1xty t2 Xt1yt23lasgociative
IXylz xtyz




